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Solved Example

1. Find the equation of a circle whose centre is (2, 3) and radius is 5.

° Watch Video Solution

2.Find the centre and radius of the circle (z — 2) + (y + 5)* = 49

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8FJd2YNtkKuW
https://dl.doubtnut.com/l/_txffLXNqqG4w

3.Find the centre and radius of the circle (z + 2)* + (y + 3)> = 5

A (-2, —3)and /5
B.(2,3) and /5
C.(—3, —2)and5

D. none of these

Answer: A

o Watch Video Solution

4. Find the equation of a circle which touches the X-axis and whose centre
is (2,3).

Az —27+(y—3)7=3

B.z? + y2 =22

C(z—27+(y—1)>=2

D. none of these


https://dl.doubtnut.com/l/_jwivxOzR0XaB
https://dl.doubtnut.com/l/_s4NvVqOMn4OC

Answer: A

° Watch Video Solution

5. Find the radius and centre of the circle of the circle

22+ y? + 2 +4y—1=0.

o Watch Video Solution

6. Find the centre and radius of the circle 32% + 3y? — 6z + 9y — 8 = 0.

o Watch Video Solution

7. Find the equation of a circle which passes through the origin and

whose centre is (a, b).

o Watch Video Solution



https://dl.doubtnut.com/l/_s4NvVqOMn4OC
https://dl.doubtnut.com/l/_fPbAbaeoi1Ok
https://dl.doubtnut.com/l/_c9nqOkiltCTO
https://dl.doubtnut.com/l/_YXkx9uvxSs0t
https://dl.doubtnut.com/l/_yEnyEJEReBEF

8. Prove that the radii of the circles
x2+y2:1,x2=y2—2z—6y:6and 332—|—y2—433—12y:9 are

in AP.

° Watch Video Solution

9. Prove that the circle z?+y?+2z+2y+1=0 and circle

z? + y? — 4z — 6y — 3 = 0touch each other.

° Watch Video Solution

10. Find the equation of a circle which passes through the point (3, 2) and

concentric with the circle 22 + y? — 4z + 2y — 1 = 0.

° Watch Video Solution

11. Find the equation of a circle which passes the centre of the circle

w2+ —6z =1 and concentric with the circle


https://dl.doubtnut.com/l/_yEnyEJEReBEF
https://dl.doubtnut.com/l/_SQxsq6sYOn02
https://dl.doubtnut.com/l/_k6L0u1T16XK3
https://dl.doubtnut.com/l/_P6FDWMGoxUnY

2¢2 + 2% — 8z + 12y — 1 = 0.

° Watch Video Solution

12. Find the equation of a circle, the co-ordinates of the ends of whose

diameter are ( — 1, — 3) and (2, 5)

° Watch Video Solution

13.In AABC, /A = 90° and the co-ordinates of points B and C are

(2, —4) and (1, 5).Find the equation of the circumcircle of AABC.

° Watch Video Solution

14. PQRS is a square of side 'b". Prove that the equation of circumcircle of

square PQRS, where PQ and PS are the axes, is 2 + % = b(z + y).

° Watch Video Solution



https://dl.doubtnut.com/l/_P6FDWMGoxUnY
https://dl.doubtnut.com/l/_ALv6XJUX3gjW
https://dl.doubtnut.com/l/_Tdt6LkCLh7BC
https://dl.doubtnut.com/l/_WIYkV2zTRZ8t
https://dl.doubtnut.com/l/_d0VNtjikSjvP

15.y = 2z be a chord of the circle z? + y* = 20z. Find the equation of a

circle whose diameter is this chord.

° Watch Video Solution

16. Find the equation of circle of a circle which passes through the points

(0, —6),(1,1) and (7, — 7).

° Watch Video Solution

17. Find the equation of the circle passing through the points

(1, — 2)and(4, — 3) and whose centre lies on the 3z + 4y = 7.

° Watch Video Solution

18. Find the equation of circumcircle of the triangle whose sides are

2 +y=4,z+y==6and x + 2y =5

| e |


https://dl.doubtnut.com/l/_d0VNtjikSjvP
https://dl.doubtnut.com/l/_OmeViMY9h7w7
https://dl.doubtnut.com/l/_wviuqj4xK92l
https://dl.doubtnut.com/l/_5o145E5of8Uu

I & Watch Video Solution ]

19. Find the parametric equations of the circles z* + y* = 16.

° Watch Video Solution

20. Find the position of the point ( — 2, 3) with respect to the circle

x> —|—y2 = 25.

° Watch Video Solution

21. Find the equation of a circle, the equation of whose two diameters are

x + 1y =6 and 3x + 4y = 16 and radius is 10.

° Watch Video Solution

22. If two circle

z? 4+ y> + 29z + 2fy = 0 and z% + y* + 2¢’x + 2f 'y = 0 touch each


https://dl.doubtnut.com/l/_5o145E5of8Uu
https://dl.doubtnut.com/l/_ok8KzqwDj85r
https://dl.doubtnut.com/l/_umLbRDZYewx8
https://dl.doubtnut.com/l/_9e4xnNY0SfPg
https://dl.doubtnut.com/l/_5qxyUy37NBCs

other then proove that f'g =fg'.

° Watch Video Solution

23. Find the length of chord cut on xaxis from the circle

22+ y? — bz —2y+ 6 = 0.

° Watch Video Solution

24.Find the vertex , focus, axis, directrix and latus rectum of the following

parabola: y> = 8z

° Watch Video Solution

25. Find the equation of parabola whose focus is (2,0) and equation of

directrix is x=-2.

° Watch Video Solution



https://dl.doubtnut.com/l/_5qxyUy37NBCs
https://dl.doubtnut.com/l/_n4M2BD1FNamL
https://dl.doubtnut.com/l/_33wZitEaHk2L
https://dl.doubtnut.com/l/_41rCA7MqEvZ3
https://dl.doubtnut.com/l/_7HZ0DBNwTAU2

26. Find the equation of a parabola whose focus and vertex are (0, 0) and

(O, 2) respectively.

° Watch Video Solution

27. Find the vertex, focus, axis , latus rectum and directrix of the parabola

vV +4r+6y+17=0

° Watch Video Solution

28. The focal distance of a point of a parabola y*> = 8z is 5. Find the

abscissa of that point.

° Watch Video Solution

29. Find the equation of a line joining the vertex of parabola y* = 8z to

its upper end of latus rectum.

| e |


https://dl.doubtnut.com/l/_7HZ0DBNwTAU2
https://dl.doubtnut.com/l/_rZjTfrT2mdqV
https://dl.doubtnut.com/l/_YTUUP7QUI6OP
https://dl.doubtnut.com/l/_dN8fVYIE1ER5

I & Watch Video Solution I

30. Find the equation of a parabola whose vertex is (-2,0) and focus is

(0,0).

° Watch Video Solution

31. Find the equation of the parabola whose Focus is (2,-3) and directrix is

x+4=0.

° Watch Video Solution

32.Find the equation of a parabola whose focus is (-8,-2) and equation of

directrix is y=2x-9.

° Watch Video Solution



https://dl.doubtnut.com/l/_dN8fVYIE1ER5
https://dl.doubtnut.com/l/_fbckQ6flyBMK
https://dl.doubtnut.com/l/_dB7aGIpHkQR3
https://dl.doubtnut.com/l/_yevDk1F6oHv9

33. If the co-ordinates of one end of a focal chord of a parabola y?=4ax

are (atz, 2at),ﬁnd the co-ordinates of its other end.

° Watch Video Solution

34. Show that the parametric point (2+t2,2t—|—1) represents a

parabola. Show that its vertex is (2,).

° Watch Video Solution

35. If the parabola y? = 4ax passes through the (4,8) then find the

length of latus rectum and the co-ordinates of focus.

° Watch Video Solution

36. Show that the locus of the mid-points of all chords passing through

the vertices of the parabola y?=4ax is the parabola 3> = 2az.

| e |


https://dl.doubtnut.com/l/_QKLISJ7iNMzv
https://dl.doubtnut.com/l/_7r8abtrLET8A
https://dl.doubtnut.com/l/_9dIasjl2ZTrQ
https://dl.doubtnut.com/l/_gSt5cz6lrHnb

l & Watch Video Solution J

37.Find the equation of that focal chord of the parabola y*> = 8z whose

mid-point is (2,0).

° Watch Video Solution

38.Find the equation of the ellipse whose major axis is 8 and minor axis is

4.

° Watch Video Solution

39. Find the co-ordinates of vertices, length of major and minor axes,
eccentricity, co-ordinates of foci, equation of directrices and length of

latus rectum for each of the following ellipse :

2 2

i Y
(I)4—9+2—5—1
Lz oy
(")T+?_1

| ° Wiak~h \tAAaA CAlLiikiAan


https://dl.doubtnut.com/l/_gSt5cz6lrHnb
https://dl.doubtnut.com/l/_PgK4rLrWWqLP
https://dl.doubtnut.com/l/_9cvIPPkaBB4L
https://dl.doubtnut.com/l/_ow8VkY3BWf7U
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40. Find the equation of ellipse whole foci are ( & 1, 0) and eccentricity is
1

3

° Watch Video Solution

41. Find the equation of the ellipse whose vertices are ( + 13, 0)and foci

are ( £ 5,0).

° Watch Video Solution

42. Find the equation of ellipse whose vertices are (0, 4+ 13) and foci

(0, +5).

° Watch Video Solution



https://dl.doubtnut.com/l/_ow8VkY3BWf7U
https://dl.doubtnut.com/l/_ZTFKTkf1eHtC
https://dl.doubtnut.com/l/_RgGVwJCmGUOv
https://dl.doubtnut.com/l/_YGZxi0NEc72P

43. Find the equation of the ellipse whose major axis is 8 and co-ordinates

of foci are ( £ 2, 0)

° Watch Video Solution

44, Find the equation of the ellipse whose focus is (5,6), equation of

1
directrix x+y+2=0 and eccentricity is 7

° Watch Video Solution

45. Find the equation of the ellipse whose centre is at origin, focus is (0,4)

and major axis is 10.

° Watch Video Solution

46. Find the equation of an ellipse the distance between the foci is 8 units

and the distance between the directrices is 18 units.

| e |


https://dl.doubtnut.com/l/_LkDLlQW6S53F
https://dl.doubtnut.com/l/_JoEK7ZSkaBsC
https://dl.doubtnut.com/l/_c1AKGzIid0jx
https://dl.doubtnut.com/l/_3Y2CBhX45mIP

I &J Watch Video Solution

47.Find the equation of the ellipse whose centre is at origin, the distance

1
between foci is 2 and eccentricity is —.

o Watch Video Solution

48. Prove that the curves x=4 (cos + sinf) and y=3 (cos 6 — sin6)

represents an ellipse.

o Watch Video Solution

49. The ends of 20 cm long rod moves on two mutually perpendicular

lines. If a point on this rod at 4 cm distance from end then from the


https://dl.doubtnut.com/l/_3Y2CBhX45mIP
https://dl.doubtnut.com/l/_ATACHTE4ljXg
https://dl.doubtnut.com/l/_2uCW0VJr3AMl
https://dl.doubtnut.com/l/_m7CjvK8jluWJ

eccentricity of the ellipse formed by moving that point.

Y

50. If e; and e2 be the eccentricities of the ellipses

2 2 2 4 2
2_2 + :Z_Q =1 and % + b% =1 respectively then prove that
3= 46% - ef

o Watch Video Solution

51. Find the equation of the hyperbola whole transverse and conjugate

axes are 8 and 6 respectively.

o Watch Video Solution



https://dl.doubtnut.com/l/_m7CjvK8jluWJ
https://dl.doubtnut.com/l/_G7EsRNnhujvw
https://dl.doubtnut.com/l/_sPempe8gfRmI

52. Find the vertices, eccentricity foci, rquation of directrices and length

of latus rectum of the hyperbola 92> — 25y = 225.

o Watch Video Solution

53. Find the vertices, eccentricity, foci, equation of directrices length of

latus rectum for the hyperbola 3y — z* = 27.

o Watch Video Solution

54. Find the equation of hyperbola whose vertices are (0, + 5) and focii

are (0, £ 10)

o Watch Video Solution



https://dl.doubtnut.com/l/_sPempe8gfRmI
https://dl.doubtnut.com/l/_gdQaBHiR7znb
https://dl.doubtnut.com/l/_sedNQP7c2g4D
https://dl.doubtnut.com/l/_CBVSn8D7384p

55. find the equation of hyperabola where foci are (0,12) and (0,-12)and the

length of the latus rectum is 36

° Watch Video Solution

56. Find th equation of the hyperbola eccentricity is 2 and the distance

between foci 16.

° Watch Video Solution

57. Find the equation of the hyperbola whose focus is (1,1), eccentricity is 2

and equation of directrix is x+y+1=0.

° Watch Video Solution

58. The difference of the distances of variable point from two given points

(3,0) and (-3,0) is 4. Find the locus of the point.

| e |


https://dl.doubtnut.com/l/_8ozgs3M3DSkl
https://dl.doubtnut.com/l/_CmYPQTLnNpp9
https://dl.doubtnut.com/l/_viJYrtD5tcWp
https://dl.doubtnut.com/l/_KiCuKeraiOkJ

I & Watch Video Solution

59. In a rectangular hyperbola z%—y? =a®

, prove that
SP . S’P = CP? where P is any point on the hyperbola, C is origin and

S and S' are foci.

° Watch Video Solution

Miscellaneous Example

1. A parabola reflector is 15 cm deep and its focus is at a distance of 5 cm

from its vertex. Find the diameter of the reflector.

° Watch Video Solution

2.Arod AB of length 15¢m rests in between two coordinate axes in such

a way that the end point A lies on  — a&s and end point B lies on


https://dl.doubtnut.com/l/_KiCuKeraiOkJ
https://dl.doubtnut.com/l/_odPqX3zS8Ha5
https://dl.doubtnut.com/l/_4ayIaeCxKOrb
https://dl.doubtnut.com/l/_hlQTz3NsZrjf

y — a€s . A point is taken on the rod in such a way that AP = 6cm .

Show that the locus of P is an ellipse. Also find its eccentricity.

° Watch Video Solution

3. A beam is supported at its ends by supports which are 12 metres apart.
Since the load is concentrated at its centre, there is a deflection of 3 cm
at the centre and the deflected beam is in the shape of a parabola. How

far from the centre is the

° Watch Video Solution

Exercise 11 A

1. Find the equation of circle whose :

(i) radius is 5 and centre is (3,4).
(ii) radius is \/3 and centre is (0.2).

(iii) radius is \/a2 + b% and centre is (a,b).


https://dl.doubtnut.com/l/_hlQTz3NsZrjf
https://dl.doubtnut.com/l/_cfNTeJAnPc0t
https://dl.doubtnut.com/l/_jc1t5rCvmKsE

(iv) radius is r and centre is (7 cos 6, r sin 6).

(v) radius is v/a? sec? § + b? tan® 6 and centre is (asecd, btan®).

° Watch Video Solution

2. Find the centre and radius radius of the following circles :
(i) (z — 1>+ (y+2)° =16

(i) (z +2)> +4> =25

(i) (z +p)* + (y+ 9> =P + ¢

(iviz? +y2 =7

° Watch Video Solution

3. Find the equation of a circle passes through the origin and whose

centre is (-2,5).

° Watch Video Solution



https://dl.doubtnut.com/l/_jc1t5rCvmKsE
https://dl.doubtnut.com/l/_eai5jBg9wKRv
https://dl.doubtnut.com/l/_1ALMJ2cvCdRZ

4. (i) Find the equation of a circle passes through the point (4,3) and

whose centre is (-3,2).

° Watch Video Solution

5. Find the equation of a circle passes through the point (1,-1) and whose

centre is at origin.

° Watch Video Solution

6. Find the equation of a circle which touches the X-axis and whose centre

is (asin@, a cos 6).

° Watch Video Solution

7.Find the equation of a circle which touches the Y-axis and whose centre

is (3,0).

| e |


https://dl.doubtnut.com/l/_5FfCFR3gF8X3
https://dl.doubtnut.com/l/_GITY1z4Xh7It
https://dl.doubtnut.com/l/_rfe8QbmyNE8s
https://dl.doubtnut.com/l/_Swxo3Sv4Wa1M

l & Watch Video Solution J

8. (i) Find the equation of a circle which touches both the axes and whose
centre is (2,2).

(ii) Find the equation of a circle, touching the lines x=0, y=0 and x=6.

° Watch Video Solution

9. Find the centre and radius of each of the following circle :
a?+y?+4e —4y+1=0

(i)222 4+ 2y — 6z +6y+1=0

(iii) 222 + 2y = 3k(z + k)

(iv) 32> Jr3y2 —bxr—6y+4=0

W22 +y* — 2z — 2y +a®> =0

° Watch Video Solution

10. Find the diameter of the circle 22> + 2y*> — 6z — 9 = 0.


https://dl.doubtnut.com/l/_Swxo3Sv4Wa1M
https://dl.doubtnut.com/l/_YdY5P1W7hM8T
https://dl.doubtnut.com/l/_EL2iB1IvoPfz
https://dl.doubtnut.com/l/_tuaMem8oypYM

° Watch Video Solution

1. Prove that the radii of the circles
22+ =1L,a’ 49> —2c —4y—11=0 and 22 + ¢* — 4z — 6y — 243 =

are in G.P.

° Watch Video Solution

12. Show that the circles z?+4+y?>—10z+4y—20=0 and
z? + y? + 14z — 6y + 22 = 0 touch each other. Find the coordinates of
the point of contact and the equation of the common tangent at the

point of contact.

° Watch Video Solution

13. Prove that the circles
2 2 2 2 2 2 _
x4y +2ax +ay—3a° =0 and z° + y° — 8ax — 6ay + 7a” =0

touch each other.


https://dl.doubtnut.com/l/_tuaMem8oypYM
https://dl.doubtnut.com/l/_vnVcJp9v0cXy
https://dl.doubtnut.com/l/_mBwbMMnOqvbJ
https://dl.doubtnut.com/l/_G5xUq2xcUZIp

° Watch Video Solution

14. If the circles 2® +9® +2azx +c=0 and 2> + y> + 2by +c =0

touch each other then show that —, —, — are in AP.
0/2 2c bZ

° Watch Video Solution

15. (i) Find the point at which the circle 2+ 9y -5z +2y+6=0,

meets the X-axis.

° Watch Video Solution

16. (i) Find the equation of a circle concentric with the circle
z? + y? — 8z + 6y — 10 = 0 and passes through the point (-2,3).

(i) Find the equation of circle concentric with the circle
z? + y*> — 4z — 8y — 6 = 0 and whose radius is three times the radius

of this circle.

e l


https://dl.doubtnut.com/l/_G5xUq2xcUZIp
https://dl.doubtnut.com/l/_Gpl91657YkxX
https://dl.doubtnut.com/l/_vNZkPn2oj6kV
https://dl.doubtnut.com/l/_Cka39xPtS0F5

| ¥ Vvvatch video sSolution J

17. Find the distance between the centres of the circles

2+ P +8c+10y—2=0and 22 +¢y*+22 +2y—1=0.

° Watch Video Solution

18. Find the equations of the circles the end points of whose diameter are
as follows :

(i) (0,6) and (6,0)

(i) (-1,3) and (2,4)

(iii) (A+b,a-b) and (a-b,a+b)

(iv) (0,0) and (2,2)

° Watch Video Solution

19. The end points of a diameter of a circle are (1,-1) and (3,5). Find the

equation of the circle. Also find its centre and radius.



https://dl.doubtnut.com/l/_Cka39xPtS0F5
https://dl.doubtnut.com/l/_eGrmrZqNBdny
https://dl.doubtnut.com/l/_8jEzP6tgaQ6R
https://dl.doubtnut.com/l/_FjnW0KuxcBKy

| ° Watch Video Solution

20. Find the equation of a circle passes through the origin and cuts 'a'

intercept on the positive parts of the axes.

° Watch Video Solution

21. Show that equations of a circle with end points of diameter
(z1,y;) and (x3,ys) is same as the equation of circle with end points of

diameter (z1, y,) and (x5, y;). Give reason.

° Watch Video Solution

22.Find the equation of a circle whose centre is (2,-1) and touches the line

X-y-6=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_FjnW0KuxcBKy
https://dl.doubtnut.com/l/_xvDoOOrzDu0d
https://dl.doubtnut.com/l/_pnrhtAIAJaaS
https://dl.doubtnut.com/l/_ik6Ra13mXfHG
https://dl.doubtnut.com/l/_DI99bC2FyGZg

23. Find the equation of circle with Centre C (1,- 3) and tangent to 2 x -y - 4

=0.

° Watch Video Solution

24. Find the equation of circle passing through the point (2, 1), (1, 2)

and(8,9).

° Watch Video Solution

25. Find the equation of the circle which passes through the points

(3, — 2)and( — 2, 0) and the center lies on the line2z —y = 3

° Watch Video Solution

26. Find the equation of the circle passing through the points

(1, — 2)and(4, — 3) and whose centre lies on the 3z + 4y = 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_DI99bC2FyGZg
https://dl.doubtnut.com/l/_2kWmfZnhnt1L
https://dl.doubtnut.com/l/_rLQDCRzCuYSn
https://dl.doubtnut.com/l/_33VCnowHeiAe

27. Find the equation of circle passing through the points (0,5) and (6,1)

and whose centre lies on the line 2x+5y=25.

° Watch Video Solution

28.Find the equation of circle passing through the points (1,-2) and (3,-4)

and touches the X-axis.

° Watch Video Solution

29. Find the equation of a circle circumscribing the triangle whose sides

are 2x+y-3=0, 3x-y-7=0 and x-2y+1=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_33VCnowHeiAe
https://dl.doubtnut.com/l/_4QUNx7u0hzbE
https://dl.doubtnut.com/l/_5J1cZGVkndQ8
https://dl.doubtnut.com/l/_xbUhsA8P8WtK

30. Find the equation of a circle passing through the points (-1,5) and

(-7,5) and its centre lies on the line 3x+4y+8=0.

° Watch Video Solution

31. (i) Find the equation a circle passing through the point
(24 3cosf, 1+ 3sinf) where "6’ is a parameter.
(i) Prove that the equations

x = acosf + bsinf and y = asinf — bcos O represents a circle.

° Watch Video Solution

32. Find the parametic equation of the circle z? + y? = 25 in terms of

parameter '6’.

° Watch Video Solution



https://dl.doubtnut.com/l/_k8rlLvjdQ8HX
https://dl.doubtnut.com/l/_sVATXfTFjRE7
https://dl.doubtnut.com/l/_JDqX1BmHTBqu

33. Find the position of the point (3,-4) with respect to the circle

z? +y? = 36.

° Watch Video Solution

34. Find the position of the point (1,-2) with respect to the circle

2?4+t +4z —2y—1=0.

° Watch Video Solution

35. Find the co-ordinates of the mid-point of the chord intersect by the

lime x-y+2=0 and the circle z? + y2 +4x — 2y = 0.

° Watch Video Solution

36. If y =2z is a chord of the circle 22 + y?> — 10z = 0 , find the

equation of a circle with this chord as diameter.

| e |


https://dl.doubtnut.com/l/_SZ3LTNGNOeMY
https://dl.doubtnut.com/l/_U12FHTyQWQmE
https://dl.doubtnut.com/l/_JzsayfdX4HWU
https://dl.doubtnut.com/l/_RQ3Zh0Z4h0RP

l & Watch Video Solution J

37. The abscissae of two points A and B are the roots of the equation
22 4 2az — b> = 0 and their ordinates are the roots of the equation
2?2 + 2pz — ¢° = 0. Find the equation and the radius of the circle with

AB as diameter.

° Watch Video Solution

Exercise 11 B

1. Find the equation of that parabol whose :

(i) vertex is (0,0) and focus is (1,0).

° Watch Video Solution

2.Find the vertex and axis of the parabola z*> — 4z — 3y + 7 = 0.

| ° Wiakt~h \tAaAaA CAlLiikiAan



https://dl.doubtnut.com/l/_RQ3Zh0Z4h0RP
https://dl.doubtnut.com/l/_UHB37Fk4U4PG
https://dl.doubtnut.com/l/_sDYOwyHPdP1k
https://dl.doubtnut.com/l/_JO9nKuQhf1bv
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3. Find the point on the parabola y? = 18z at which ordinate is 3 times

its abscissa.

° Watch Video Solution

4. Find the point on the parabola y? = 12z at which ordinate is 3 times

its abscissa.

° Watch Video Solution

5. The equations of the parabolas the extremities of whose latus rectum

are (3,5) and (3, — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_JO9nKuQhf1bv
https://dl.doubtnut.com/l/_TUvJ5EmNW5Nu
https://dl.doubtnut.com/l/_CpmWPA5hK2Vf
https://dl.doubtnut.com/l/_bX9iU9Inyzg5

6. Find the coordinates of a point on the parabola y*> = 8z, whose focal

distance is 4

° Watch Video Solution

7. Find the co-ordinates of the points lying on parabola y*> = 162 whose

focal distance is 8.

° Watch Video Solution

8. Find the co-ordinates of the points lying on parabola 22 = 12y whose

focal distance is 15.

° Watch Video Solution

9. If the parabola y?> = 4ax passes through the point (2,-3) then find the

co-ordinates of the focus and the length of latus rectum.

| e |


https://dl.doubtnut.com/l/_N6Na76jh1Oop
https://dl.doubtnut.com/l/_i0Mjz8XEwsJU
https://dl.doubtnut.com/l/_mYfq5xhwbwbd
https://dl.doubtnut.com/l/_EC2IiV1v2np5

| & Watch Video Solution I

10. Prove that the locus of mid-point of focal chords of parabola

y® = dazisy® = 2a(z — a).

o Watch Video Solution

11. Show that y = ax? + bz + c represents a parabola.

Also find equation its axis.

o Watch Video Solution

12. Find the length of latus rectum of the parabola 2% = 4z — 4y,.

o Watch Video Solution



https://dl.doubtnut.com/l/_EC2IiV1v2np5
https://dl.doubtnut.com/l/_8UOHjzW9ZImd
https://dl.doubtnut.com/l/_RjdJrt1YA8Ai
https://dl.doubtnut.com/l/_DOuCGqgGIB36

13. Show that the equation

1 n 1 n 1
r+y—a r—yY+a Yy—+a

represents a parabola.

° Watch Video Solution

14. Find the position of the following points with respect to the parabola
y? = 16z
() (4,-8), (ii) (2,4)

(i1i) (O1) , (iv) (-2,8)

° Watch Video Solution

15. Prove that the equation of the parabola whose vertex and focus are on
the X-axis at a distance a and a'from the origin respectively is

y* =4(a’ ~ a)(z — a)

° Watch Video Solution



https://dl.doubtnut.com/l/_VfGqt4QPLYxT
https://dl.doubtnut.com/l/_W2cMNrvvKRL2
https://dl.doubtnut.com/l/_2MF36b5RocxH

16. Find the equation of that focal chord of the parabola y? = 8z whose

mid-point is (2,0).

° Watch Video Solution

17. Find the area of the triangle formed by the vertex and the ends of the
latus rectum of the parabola

2 = — 36y.

° Watch Video Solution

18. If the point (at?, 2at) be the extremity of a focal chord of parabola

2
1
y? = 4ax then show that the length of the focal chord is a (t + ?> .

° Watch Video Solution



https://dl.doubtnut.com/l/_NFtCQ52KetPZ
https://dl.doubtnut.com/l/_qnswrH1HT3WC
https://dl.doubtnut.com/l/_BLFLkTogZuOn

19. Prove that the semi-latusrectum of the parabola y? = 4ax is the

harmonic mean between the segments of any focal chord of the parabola.

° Watch Video Solution

Exercise 11 C

1. Convert the following equation of ellipse into standard from .

(i) 1622 + 9y* = 144

(i) 922 + 25y% = 225

° Watch Video Solution

2. Find the equation of the ellipse whose co-ordinate of focus are (6,7),

equation of directrix x+y+1= and eccentricity is —.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZXQQby90fgW4
https://dl.doubtnut.com/l/_HWWrJrx2suPV
https://dl.doubtnut.com/l/_GfvWazkfw9w4
https://dl.doubtnut.com/l/_zGCIUUZWdCws

3. Find the eqation of the ellipse whose co-ordinates of focus are (3,2),

2
eccentricity is 3 and equation of directrix is 3x+4y+5=0.

° Watch Video Solution

4. Find the equation of the ellipse whose co-ordinates of focus are (1,2),

1
eccentricity is 3 and equation of directrix is x+5y=6.

° Watch Video Solution

5. Find the equation of the ellipse whose foci are ( +4,0) and

eccentricity is 3

° Watch Video Solution

6. Find the equation of the ellipse whose foci are (0, £3) and

eccentricity is T

| ° A _L vl . o e~ .. ]


https://dl.doubtnut.com/l/_zGCIUUZWdCws
https://dl.doubtnut.com/l/_Vwcy0M7K24tw
https://dl.doubtnut.com/l/_GPaXbhBtyy1t
https://dl.doubtnut.com/l/_wrGzsxTEaTBF
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7.Find the equation of the ellipse whose vetices are ( £ 6, 0) and foci are

(+4,0).

° Watch Video Solution

8. Find the equation of the ellipse whose vertices are (0, & 4) and foci

are (0, + 3).

° Watch Video Solution

9. Find the equation of the ellipse whose vertices are ( & 2, 0) and foci

are (+1,0).

° Watch Video Solution



https://dl.doubtnut.com/l/_wrGzsxTEaTBF
https://dl.doubtnut.com/l/_TLk5sjfjLNbg
https://dl.doubtnut.com/l/_WOMqVhKO8tBz
https://dl.doubtnut.com/l/_Lt78eubZujNH

10. Find the equation of the ellipse whose major axis is 12 and foci are

(+4,0).

o Watch Video Solution

11.If the eccentricity is zero, prove that the ellipse becomes a circle.

o Watch Video Solution

12. Find the equation of the ellipse whose foci are ( +2,0) and

eccentricity is 3

o Watch Video Solution

13. Find the equation of the ellipse whose foci are (0, +1) and

eccentricity is bR

o Watch Video Solution



https://dl.doubtnut.com/l/_T0kcR5F92U8v
https://dl.doubtnut.com/l/_y48IZ4Hv6kul
https://dl.doubtnut.com/l/_sA5uhD3KGJ49
https://dl.doubtnut.com/l/_PoinaJI0dFu9

14. Find the equation of the ellipse whose foci are ( & 3, 0) and it passes

through the point (2, \/7)

° Watch Video Solution

15. Find the eccentricity of the ellipse whose latus rectum is (i) half its

major axis, (ii) half its minor axis.

° Watch Video Solution

16. Find the equation of the ellipse which passes through the points (3,1)

and (2,2).

° Watch Video Solution



https://dl.doubtnut.com/l/_PoinaJI0dFu9
https://dl.doubtnut.com/l/_Yvq6nl6cMinE
https://dl.doubtnut.com/l/_KXy6sdkqwnlX
https://dl.doubtnut.com/l/_MOmNU0RPjdN0

17. Find the eccentricity of the ellipse whose latus rectum is one third of

the major axis.

° Watch Video Solution

18. find the equation of the ellipse refer refer to it Centre whose major

axis is equal to distance between the foci and latus rectum is 10.

° Watch Video Solution

19. The ends of 20 cm rope are at two points 16 cm apart. Find the
eccentricity and latus rectum of ellipse formed by the variablepoint at

which the rope is tighten.

° Watch Video Solution



https://dl.doubtnut.com/l/_SpBC2JzgsGXP
https://dl.doubtnut.com/l/_e8HooXKCM4jh
https://dl.doubtnut.com/l/_RJPRBH6KuRCq

20. A rod AB of length 30 cm moves such that its ends always touching
the co-ordinate axes. Determine the locus of a point C of the rod if AC: BC

=2:1

° Watch Video Solution

21. Show that the point (9,4) lies outside the ellipse

332

10 =1

2
Y
* 9

o Watch Video Solution

22. If the focal distance of one ed of minor axis of an ellipse is k and

distance betwnn foci is 2h then find the equation of the ellipse.

o Watch Video Solution



https://dl.doubtnut.com/l/_M9qAt1S9okTt
https://dl.doubtnut.com/l/_aHfRAdt7RnXJ
https://dl.doubtnut.com/l/_UruYsF1vDhVL
https://dl.doubtnut.com/l/_U9np9YOToQYy

1. Find the equation of hyperbola whose transverse axis is 10 conjugate

axis is 6.

° Watch Video Solution

2. Find the equation of the hyperbola whose vertices are ( £ 3,0) and

fociat ( £ 5, 0)

° Watch Video Solution

3. Find the equation of the hyperbola, the length of whose latusrectum is

8 and eccentricity is 3 //5

° Watch Video Solution

4. Find the equation of the hyperbola whose : focus is (1,1) directrix is

2z + y = 1 and eccentricity = /3

| o A _L vl . o ~_ 1.0 ]


https://dl.doubtnut.com/l/_U9np9YOToQYy
https://dl.doubtnut.com/l/_oCnxz4DteT9u
https://dl.doubtnut.com/l/_yvtkC6mrryZk
https://dl.doubtnut.com/l/_LhqjtY6edmag
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5. Find the equation of hyperbola whose equation of directrix is x+2y=1,

focus is (-1,1) and eccentricity is /2.

° Watch Video Solution

6. (i) Find the eccentricity of hyperbola whose latus rectum is half of its

transverse axis.

y .y r y 1
(ii) Prove that the straight lines — — — = m and — — — = — always
a b a b m

meet at a hyperbola, where 'm' is a constant.

° Watch Video Solution

7.1f the locus of the point which moves so that the difference (p) O of its

2 2
distance from the points (5,0) and ( — 5,0) is 2 is :c_2 - % = 1 then
a

ais

° Watch Video Solution



https://dl.doubtnut.com/l/_LhqjtY6edmag
https://dl.doubtnut.com/l/_McDQngvJ7tOd
https://dl.doubtnut.com/l/_vIncdWKxqwgu
https://dl.doubtnut.com/l/_ng17f8kIhL1y

8. Find the equation of the hyperbola whose foci are (0, 4+ 4) and latus

rectum is 12.

o Watch Video Solution

9. Find the equation of the hyperbola whose vertices are ( + 2, 0) and

eccentricity is 3

o Watch Video Solution

10. Find the eccentricity of hyperbola z? — 9y* = 1.

o Watch Video Solution

11. Find the equation of hyperbola which passes through the point (-3,2)

and its conjugate axis is 8.

| oo ]


https://dl.doubtnut.com/l/_ng17f8kIhL1y
https://dl.doubtnut.com/l/_vBoOVcXCA8rU
https://dl.doubtnut.com/l/_iX1KH8zUtGBc
https://dl.doubtnut.com/l/_uwOLOURQKG5n
https://dl.doubtnut.com/l/_moCIoczNf27H

I & Watch Video Solution ]

12. Find the equation of the hyperbola whose conjugate axis is 5 and the

distance between the foci is 13.

o Watch Video Solution

/13
13. (i) Find the equation of hyperbola whose eccentricity is T2 and the
distance between foci is 26.
(ii) The foci of a hyperbola coincide of the ellipse 9% + 25y* = 225. If the

eccentricity of the hyperbola is 2, then find its equation.

° Watch Video Solution

14. If the eccentricity of the hyperbola
2 2 2 2
2—2 — :Z_Q =1 and :Z—2 — % =1 are e; and e; respectively then
1 1
prove that : -t =1
€1 &

| O A _L vl . o e~ .. ]


https://dl.doubtnut.com/l/_moCIoczNf27H
https://dl.doubtnut.com/l/_mfjzkub80tNJ
https://dl.doubtnut.com/l/_M5tyrfBlTLrP
https://dl.doubtnut.com/l/_ZmhXIkK4kGHU
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1. The focus of a parabolic mirror as shown in figure is at a distance of 5

cm from its vertex. If the mirror is 45 cm deep, find the distance AB

o Watch Video Solution

2. A parabola reflector is 9 cm deep and its diameter is 24 cm. Find the

distance of its focus from vertex.

o Watch Video Solution

3. A rod of length 12 cm moves with its ends always touching the
coordinate axes. Determine the equation of the locus of a point P on the

rod, which is 3cm from the end in contact with the x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZmhXIkK4kGHU
https://dl.doubtnut.com/l/_TqeLgTXBF9Nd
https://dl.doubtnut.com/l/_3SMWlvyGjiDh
https://dl.doubtnut.com/l/_hSiwpGuzlHQj

4. A man running a racecourse notes that the sum of the distances from
the two flag posts from him is always 10 m and the distance between the

flag posts is 8 m. Find the equation of the posts traced by the man.

° Watch Video Solution

5.The cable of a uniformly loaded suspension bridge hangs in the form of
a parabola. The roadway which is horizontal and 100m long is supported
by vertical wires attached to the cable, the longest wire being 30m and
the shortest being 6m. Find the length of the supporting wire attached

to the roadway 18m from the middle.

° Watch Video Solution



https://dl.doubtnut.com/l/_hSiwpGuzlHQj
https://dl.doubtnut.com/l/_kDlGXTCL5Nty
https://dl.doubtnut.com/l/_GJeOgm20Nfwh
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1. The parametric point on the circle z2 + ¢ = a?is :

A.(acosf,asinf)
B.(acosf, bsinb)
C. (bcos b, asinb)

D. None of these

Answer: A

o Watch Video Solution

2. Find the equation of the circle passing through (0, 0) and making
intercepts a and b on the coordinate axes.
Az +yi+ar+by=0
B.2> +y> —az —by =0
2 2 _
Cx+y +axr—by=20

D.2’4+y* —ax +by=0


https://dl.doubtnut.com/l/_3zWwm3cQkdIh
https://dl.doubtnut.com/l/_OWsh408jklO3

Answer: B

° Watch Video Solution

3. The co-ordinates of the end points of a diameter of a circle are (0,0)
and (4,4). The equation of the circle is :

Azl4+y -8 —8 =0

B.2> +¢y> + 8z + 8y =0

Czl+y’ +4z +4y=0

D.z2 +y? —dz — 4y =0

Answer: D

° Watch Video Solution

4.The co-ordinates of a point on the parabola y* = 8z whose ordinate is

twice of abscissa, is :


https://dl.doubtnut.com/l/_OWsh408jklO3
https://dl.doubtnut.com/l/_w2lZsCiIRcIV
https://dl.doubtnut.com/l/_NGXRsKJjcyam

A (2,4)

B. (-2,4)

C.(-2,4)

D. None of these.

Answer: A

° Watch Video Solution

5. If the vertex of a parabola is (0,2), directrix on x-axis then its focus is :

A. (0,0)

B.(0,4)

C.(4,0)

D. None of these.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_NGXRsKJjcyam
https://dl.doubtnut.com/l/_fdXFvJT3JLfr

6. The latus rectum of an ellipse is half of its minor axis. Its eccentricity is :

N w >

o

Do = NI
|G %

Answer: D

° Watch Video Solution

2 2
7.The vertex of ellipse 6 + % = 1are:
A (£5,0)
B.( £4,0)

C. (0, £ 5)


https://dl.doubtnut.com/l/_fdXFvJT3JLfr
https://dl.doubtnut.com/l/_mRZD7B4CDzW0
https://dl.doubtnut.com/l/_3DYGc4G0YmZ4

D. (0, + 4)

Answer: C

° Watch Video Solution

8. The equation of hyperbola whose foci and vertices are
(0, +18) and (0, + 9) respectivelty, is :

A z? — 3y? = 243

B.3x? — y? = 243

C. 3y2 — 2% = 243

D.y? — 3z? = 243.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3DYGc4G0YmZ4
https://dl.doubtnut.com/l/_dyUkCBxdaaDG

9.If the locus of the point which moves so that the difference (p) O of its

2 2
distance from the points (5,0) and ( — 5,0) is 2 is m_z - % = 1 then
a

ais

o Watch Video Solution

10. Write the length of the intercept made by the circle
22+ y? +2z —4y—5=10o0n y-axis.

A. 6 units

B. 8 units

C. 10 units

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3AXnrlMwicf9
https://dl.doubtnut.com/l/_iaoyhZyhFSOi

1. If a line is drawn through a fixed point P(a, §) to cut the circle

z? + y*> = a® at Aand B, then find the value of PA. PB
A (a—B)° + 7
B.a? + B2 — r?
C.(a+B)+r?

D. None of these

Answer: B

° Watch Video Solution

2. A circle passes through (0,0) and (1,0) and touches the circle

z? + y* = 9 then the centre of circle is -

‘()


https://dl.doubtnut.com/l/_VIEUoCnb3Gcg
https://dl.doubtnut.com/l/_xXO3EmMrdtbO

B. (0,3)

C.(-1,1)

D. None of these

Answer: A

° Watch Video Solution

3.If the lines 2x-3y=5 and 3x-4y=7 are the diameters of a circle of area 154
square units, then obtain the equation of the circle.

Az+y? —20+2y—62=0

Bz +y? —22x+2y—47=0

Cal4+y?+22—2y—47=0

D.z? 4+ ¢y> +22 — 2y — 62 =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xXO3EmMrdtbO
https://dl.doubtnut.com/l/_lOFOy1D9LGQO

4.Thecircdesz®> +y> — 2z —4y+1=0andz’> +y*> +4y—1=0

1 1 1
hETweTe
gLt 1

b? c a?
ct_1.,1

c2 a? b2

D. None of these

Answer: C

° Watch Video Solution

5.1f the focus of a parabola is (3, 3) and its directrix is 3z — 4y = 2 then

the length of its latus rectum is

Al

B.2

C.3


https://dl.doubtnut.com/l/_lOFOy1D9LGQO
https://dl.doubtnut.com/l/_8F1kZ52lRiCm
https://dl.doubtnut.com/l/_yhrdwWajRLiJ

D.4

Answer: B

° Watch Video Solution

6. If t is the parameter for one end of a focal chord of the parabola

y® = 4az, then its length is :

A t—i—l
.a .

B t 1
.a 7
1 2
C.a<t + —>
t
1 2
D.a(t — —)
t
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yhrdwWajRLiJ
https://dl.doubtnut.com/l/_oLJnVn6aqKx1

7. The co-ordinates of the end points of the latus rectum of a parabola

are (3,6) and (-5,6). The co-ordinates of its focus are :

A. (0,0)
B. (1,1)
C.(2,2)

D. None of these.

Answer: C

o Watch Video Solution

8. The eccentricity of the curve 2 — 4z + 4y = 12is

@

N

—
w

D. None of these.


https://dl.doubtnut.com/l/_0ZApqTk2sxj0
https://dl.doubtnut.com/l/_CzocZ6G3iva8

Answer: D

° Watch Video Solution

9.The co-ordinates of a focus of an ellipse is (4,0) and its eccentricity is 5

Its equation is :

A.25x2 + 9y* = 225
B. 9% + 25y = 225
C.16z2 + 25y% = 400

D. 25z + 16y = 400.

Answer: B

° Watch Video Solution

10. If e and e; are the eccentricities of the hyperbola

zy = & and 22 — y? = a? then (e + e1)” is equal to


https://dl.doubtnut.com/l/_CzocZ6G3iva8
https://dl.doubtnut.com/l/_MUZ30kqtD8hQ
https://dl.doubtnut.com/l/_LsSSDWN4xlPV

A.e%—i—e% =1

2 2 _
B.el + €5 =4
2 2 _
Celt+e; =6
D.e%+e% = 8.
Answer: B

o Watch Video Solution

1. Find the equation of the circle with centre : (0, 2) and radius 2

° Watch Video Solution

2.Find the equation of the circle with centre : ( — 2, 3)and radius 4

° Watch Video Solution



https://dl.doubtnut.com/l/_LsSSDWN4xlPV
https://dl.doubtnut.com/l/_vZkBljDymkXq
https://dl.doubtnut.com/l/_0bJmYzKXXbTA
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3. Find the equation of the circle with centre : <§, Z) and radius 5E)

° Watch Video Solution

4. Find the equation of the circle with centre: (1, 1) and radius \/ﬁ

° Watch Video Solution

5. Find the equation of the circle with centre : ( — a, b)and radius

\/ a® — b,

° Watch Video Solution

6. Find the centre and radius of the circles(z + 5) + (y — 3)> = 36

° Watch Video Solution



https://dl.doubtnut.com/l/_3uobEfype9nJ
https://dl.doubtnut.com/l/_czdcTAhPCrtQ
https://dl.doubtnut.com/l/_jVydMjiy6wKt
https://dl.doubtnut.com/l/_rOgnmRL4HdZ5

7.Find the centre and radius of the circlesz? + y? — 4o — 8y — 45 = 0

o Watch Video Solution

8.Find the centre and radius of the circlesz? + y* — 8z + 10y — 12 = 0

o Watch Video Solution

9.Find the centre and radius of the circles2z? + 2y> — 2z = 0

o Watch Video Solution

10. Find the equation of the circle passing through the points (4,1) and

(6,5) and whose centre lies on the line 4x+y = 16.

o Watch Video Solution



https://dl.doubtnut.com/l/_tWq8B0BtHO5W
https://dl.doubtnut.com/l/_yCu2t0UXoNnN
https://dl.doubtnut.com/l/_frZxxh0NK033
https://dl.doubtnut.com/l/_hhGsngJCaxRB

11. Find the equation of circle passing through the point (2,3) and (-1,1)

and whose centre is on the linex-3y-11=0

° Watch Video Solution

12. Find the equation of the circle with radius 5 whose center lies on the

x-axis and passes through the point (2, 3).

° Watch Video Solution

13. Find the equation of the circle passing through (0, 0) and making

intercepts a and b on the coordinate axes.

° Watch Video Solution

14. Find the equation of a circle with centre (2, 2) and passes through the

point (4, 5).

| e |


https://dl.doubtnut.com/l/_HH2i1kTjm28K
https://dl.doubtnut.com/l/_hO0z6UDqSm7T
https://dl.doubtnut.com/l/_b3l0jTMVcMjt
https://dl.doubtnut.com/l/_SAppGhAOOD2E

| & Watch Video Solution I

15. Does the point (2.5, 3.5) lie inside, outside or on the circle

z? +y? =252

o Watch Video Solution

1. For the following parabola find the coordinates of the focus, the

equation of the directrix and the length of the latus rectum. Y =12z

° Watch Video Solution

2.z? = 6y. Find latus rectum and axis of parabola

° Watch Video Solution



https://dl.doubtnut.com/l/_SAppGhAOOD2E
https://dl.doubtnut.com/l/_971j5xiXRYUu
https://dl.doubtnut.com/l/_v0Q6R9Kg8IWX
https://dl.doubtnut.com/l/_SJewyPBzFDlI
https://dl.doubtnut.com/l/_FPfa3TbQDuom

3.y% = — 8z Find latus rectum and directrix of parabola

° Watch Video Solution

4.3? = — 16y. Find latus rectum and directrix of parabola

° Watch Video Solution

5.y%> = 10z . Find latus rectum and directrix of parabola

° Watch Video Solution

6.2> = — 9y.Find latus rectum and axis of parabola

° Watch Video Solution

7.The equation of the parabola with the Focus (6,0), directrix x=-6 is

e


https://dl.doubtnut.com/l/_FPfa3TbQDuom
https://dl.doubtnut.com/l/_g36xlaZNQpA6
https://dl.doubtnut.com/l/_Xr0VOlMtfEJP
https://dl.doubtnut.com/l/_2llGN2CccyKD
https://dl.doubtnut.com/l/_j8btiikr6gwX

| ¥ vvatch vidaeo sSolution

8.The equation of the parabola with the focus (0,-3), directrix y=3 is:

° Watch Video Solution

9. Find the equation of parabola having vertex (0,0) and focus (3,0).

° Watch Video Solution

10. Find the equation of parabola that satisfies the given condition

Vertex (0,0), focus (-2,0)

° Watch Video Solution

11. Find the equation of the parabola that satisfies the given conditions:

Vertex (0,0) passing through (2,3) arid axis is along xaxis.

| ° Wiak A \tAAaA CAlLiikiAan


https://dl.doubtnut.com/l/_j8btiikr6gwX
https://dl.doubtnut.com/l/_7uMM1lC9cEEK
https://dl.doubtnut.com/l/_ehPTWgh0Jukr
https://dl.doubtnut.com/l/_fq0N3O6GU2Dn
https://dl.doubtnut.com/l/_i1aCthL4PLOR
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12. Find the equation of the parabola if its vertex is at (0, 0), passes

through (5, 2) and is symmetric w.rit. y-axis.

° Watch Video Solution

1. Find the coordinates of the foci, the vertices, the length of major axis,

the minor axis, the eccentricity and the length of the latus rectum of the

2 2

, Y
elllpse.% + 16 = 1

° Watch Video Solution

2. Find the coordinates of the foci, the vertices, the length of major axis,

the minor axis, the eccentricity and the length of the latus rectum of the

2 2

eIIipse.x— + 4

7 to5 1



https://dl.doubtnut.com/l/_i1aCthL4PLOR
https://dl.doubtnut.com/l/_KesAcly6tE6v
https://dl.doubtnut.com/l/_PLm1JHzkPrbw
https://dl.doubtnut.com/l/_LbLGsXQn2hwb

I ° Watch Video Solution

3. Find the coordinates of the foci, the vertices, the length of major axis,

the minor axis, the eccentricity and the length of the latus rectum of the

2 2

llipse.— + — =1
elpse16+ 9

° Watch Video Solution

4. Find the coordinates of the foci, the vertices, the length of major axis,

the minor axis, the eccentricity and the length of the latus rectum of the

£U2 y2
lipse~— + 2 —1
ellipse.or + 700

o Watch Video Solution

5. Find the coordinates of the foci, the vertices, the length of major axis,

the minor axis, the eccentricity and the length of the latus rectum of the

5132 2

: Y
eII|pse.4—9 + 36 1

| e |


https://dl.doubtnut.com/l/_LbLGsXQn2hwb
https://dl.doubtnut.com/l/_1azJ6VSTxdwR
https://dl.doubtnut.com/l/_kUWcCOod1EFv
https://dl.doubtnut.com/l/_QuHaRgW672st

I 0 Watch Video Solution

6. Find the coordinates of the foci, the vertices, the length of major axis,

the minor axis, the eccentricity and the length of the latus rectum of the

. z? y?
elllpse.m —+ m =1

° Watch Video Solution

7. Find the coordinates of the foci, the vertices, the length of major axis,
the minor axis, the eccentricity and the length of the latus rectum of the

ellipse.36x> + 4y* = 144

° Watch Video Solution

8. Find the coordinates of the foci, the vertices, the length of major axis,
the minor axis, the eccentricity and the length of the latus rectum of the

ellipse.16z® + 3> = 16

| ° Watch Video Solution


https://dl.doubtnut.com/l/_QuHaRgW672st
https://dl.doubtnut.com/l/_rvCT3VwVNpt5
https://dl.doubtnut.com/l/_MmSUSugcQ6r0
https://dl.doubtnut.com/l/_YlmB4KooUvY9

9. Find the coordinates of the foci, the vertices, the length of major axis,
the minor axis, the eccentricity and the length of the latus rectum of the

ellipsedz? + 9y* = 36

° Watch Video Solution

10. Find the equation of the ellipse that satisfies the given conditions:

Vertices ( £ 5, 0), foci ( £ 4, 0)

° Watch Video Solution

1. Find the equation for the ellipse that satisfies the given

conditions:Vertices (0, + 13), foci (0, £ 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_YlmB4KooUvY9
https://dl.doubtnut.com/l/_R5nqYivFK3Pc
https://dl.doubtnut.com/l/_R3bea7BtQAI6
https://dl.doubtnut.com/l/_TMNggp6dvqY1

12. Find the equation of the ellipse that satisfies the given conditions:

Vertices ( £ 6, 0), foci ( -4, 0)

° Watch Video Solution

13. Find the equation of the ellipse that satisfies the given conditions:

Ends of major axis ( & 3, 0), ends of minor axis (0, + 2).

° Watch Video Solution

14. Find the equation for the ellipse that satisfies the given conditions:

Ends of major axis (0, & 4/5) , ends of minor axis ( + 1, 0)

° Watch Video Solution

15. Find the equation of the ellipse that satisfies the given conditions:

Length of major axis 26, foci ( & 5, 0)

| e


https://dl.doubtnut.com/l/_2V5H5Fcpb9co
https://dl.doubtnut.com/l/_HasTWpndx7Gn
https://dl.doubtnut.com/l/_n9krGiun7qrD
https://dl.doubtnut.com/l/_bwTHCAtieUPw

I & Watch Video Solution

16. Find the equation of the ellipse that satisfies the given conditions:

Length of minor axis 16, foci (0 + 6).

° Watch Video Solution

17. Find the equation of the ellipse that satisfies the given conditions:

Foci (£ 3,0),a =4

° Watch Video Solution

18. Find the equation for the ellipse that satisfies the given conditions: b =

3, c =4, centre at the origin; foci on a x axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_bwTHCAtieUPw
https://dl.doubtnut.com/l/_Smldrb3qPDcT
https://dl.doubtnut.com/l/_2mBZEJ5Uzh2j
https://dl.doubtnut.com/l/_jOI3b6xKmILK

19. Find the equation for the ellipse that satisfies the given conditions:
Centre at (0, 0), major axis on the yaxis and passes through the points (3,

2) and (1, 6).

° Watch Video Solution

20. If Major axis on the x-axis and passes through the points (4,3) and
(6,2). then the equation foe ellipse whose center is origin is satisfies the

given condition

° Watch Video Solution

Exercise 11 4

1. Find the coordinates of the foci and the vertices, the eccentricity and

2 2
the length of the latus rectum of the hyperbolas.% — % =1

° Watch Video Solution



https://dl.doubtnut.com/l/_JZDWxptynPjB
https://dl.doubtnut.com/l/_bB34DvIJ4IEI
https://dl.doubtnut.com/l/_38OUYNkigkQL

2. Find the coordinate of the foci, vertice eccentricity and the length of

the latus rectum of the hyperbola

Z_ -1

v _a
9 ;W

° Watch Video Solution

3. Find the coordinate of the foci, vertices, eccentricity and the length of
the latus rectum of the hyperbola

9y? — 42% = 36

° Watch Video Solution

4. Find the coordinates of the foci, the vertices, the eccentricity and the

length of the latus rectum of the Hyperbola 16z — 9y = 576

° Watch Video Solution



https://dl.doubtnut.com/l/_38OUYNkigkQL
https://dl.doubtnut.com/l/_Xx2MASNst6Pv
https://dl.doubtnut.com/l/_QXuKIcQ6iL5j
https://dl.doubtnut.com/l/_S2w2nh92ngq2

5. Find the coordinates of the foci and the vertices, the eccentricity and

the length of the latus rectum of the hyperbolas.5y? — 9z = 36

° Watch Video Solution

6. Find the coordinate of the foci, vertice eccentricity and the length of
the latus rectum of the hyperbola

49y* — 162% = 784

° Watch Video Solution

7. In each of the following find the equations of the hyperbola satisfying

the given condition: Vertices ( & 2, 0), foci( £ 3, 0)

° Watch Video Solution



https://dl.doubtnut.com/l/_JNuZ0ljKaLgt
https://dl.doubtnut.com/l/_NNwSB8nrn60b
https://dl.doubtnut.com/l/_kSZKOwxmFdty

8. In each of the following find the equations of the hyperbola satisfying

he given condition: vertices (0, + 5) ficu (0, + 8)

° Watch Video Solution

9. In each of the following find the equations of the hyperbola satisfying

he given condition: vertices (0, + 3) foci (0, £+ 5)

° Watch Video Solution

10. Find the equations of the hyperbola satisfying the given conditions

:Foci ( + 5, 0), the transverse axis is of length 8.

° Watch Video Solution

11. Find the equations of the hyperbola satisfying the given conditions

:Foci (0, £ 13), the conjugate axis is of length 24.

| e |


https://dl.doubtnut.com/l/_1EirDh6ha0oO
https://dl.doubtnut.com/l/_qgwkrhejNXHO
https://dl.doubtnut.com/l/_amsNjoTIUF5W
https://dl.doubtnut.com/l/_NYziLlBrzBlD

I & Watch Video Solution

12. Find the equations of the hyperbola satisfying the given conditions

:Foci ( + 3,/5, O),the latus rectum is of length 8.

° Watch Video Solution

13. Find the equations of the hyperbola satisfying the given conditions

:Foci ( + 4, 0), the latus rectum is of length 12

° Watch Video Solution

14. Find the equations of the hyperbola satisfying the given conditions

4
:Vertices ( £ 7,0),e = 3

° Watch Video Solution



https://dl.doubtnut.com/l/_NYziLlBrzBlD
https://dl.doubtnut.com/l/_BNiNbeUVXsE4
https://dl.doubtnut.com/l/_Oic3ExuTAe51
https://dl.doubtnut.com/l/_VKECEmtCS2Ff

15. Find the equations of the hyperbola satisfying the given conditions

:Foci (0, =+ 4/10), passing through (2,3)

° Watch Video Solution

Miscellaneous Exercise

1. If a parabolic reflector is 20 cm in diameter and 5 cm deep, find its

focus.

° Watch Video Solution

2. An arc is in the form of a parabola with its axis vertical. The arch is 10 m
high and 5 m wide at the base. How high is it 2 m from the vertex of the

parabola ?

° Watch Video Solution



https://dl.doubtnut.com/l/_R7iIyll0WLkF
https://dl.doubtnut.com/l/_4vuwuiWUwXlx
https://dl.doubtnut.com/l/_Nlv2QhkTZV94
https://dl.doubtnut.com/l/_hSoJRFERHi5Y

3. The cable of a uniformly loaded suspension bridge hangs in the form of
a parabola. The roadway which is horizontal and 100 m long is supported
by vertical wires attached to the cable, the longest wire being 30 m and

the shortest being 6 m. Find t

o Watch Video Solution

4. An arc is in the form of a semi-ellipse. It is 8m wide and 2m high at the

centre. Find the height of the arch at a point 1. 5em from one end.

o Watch Video Solution

5. A rod of length 12 cm moves with its ends always touching the
coordinate axes. Determine the equation of the locus of a point P on the

rod, which is 3cm from the end in contact with the x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_hSoJRFERHi5Y
https://dl.doubtnut.com/l/_SbQKTGY8AJWy
https://dl.doubtnut.com/l/_dwx1i1OLNqlZ

6. Find the area of the triangle formed by the lines joining the vertex of

the parabola 2> = 12y to the ends of its latus-rectum.

° Watch Video Solution

7. A man running a racecourse notes that the sum of the distances from
the two flag posts from him is always 10 m and the distance between the

flag posts is 8 m. Find the equation of the posts traced by the man.

° Watch Video Solution

8. An equilateral triangle is inscribed in the parabola y* = 4az whose

vertex is at the vertex of the parabola .Find the length of its side.

° Watch Video Solution



https://dl.doubtnut.com/l/_RtZxpdKAnODn
https://dl.doubtnut.com/l/_B2DLPp0bAp4H
https://dl.doubtnut.com/l/_rPBrrCJ5aGiM

